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As at the end of 2017 and 2016, Bank ABC'’s results of capital adequacy ratio are as follows.

Please answer the following questions.
in TWD millions, except for percentages

item 31 December 2017 31 December 2016

Net common equity tier 1 capital 217,260 (E)

Net additional tier 1 capital (A) 1,920

Net tier 2 capital 15,300 (F)

Total capital (B) (G)
Risk-weighted assets 1,800,000 (H)
Common equity tier 1 capital ratio © 11.99%

Tier 1 capital ratio 12.18% 12.11%
Total capital ratio (D) 13.13%

1. As of 2017, the minimum ratio for common equity tier 1 capital, tier 1 capital and total capital
are 5.75%, 7.25% and 9.25%, respectively. Based on the risk-weighted assets of Bank ABC on
31 December 2017, what are the minimum amounts of respective capitals Bank ABC has to hold

as required by the regulator? [9 4 ]

2. Please compute the numbers of (A)~(H) to complete Bank ABC’s results of capital adequacy
ratio. [16 4 )
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Please describe the Basel Il framework. [25 4 ]
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